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3. (a)

2
3
4
5
6. 2 © AMNO~APQO (£ £)
7
8
9
0

1

.(a) SE=ZAR

B2 As 8.2 (Br425)
a=60°, b=120°, ¢=60°

B2l 8.3 (BP.43H)
1. x=50°, y=80° BEZ Al 10.1 (BP.57H)

2. x=65° y=65° 2z=6
xR y=eeh e Poa g

5 8.66 10 30°

. ;
#3388 (BP.44H) 8.10 9 121 420

1. 48° 2. 60°

31.6 4°
3. 120° 4. 30° 15 % 254
5- 400 6' 400 11 ‘ 7 13.0 57.50

BP.84

o



8 10 (Br.58E)

1. 30° 2. 45.6°

3. x=7.66, y=6.43 4. x=5.81, y=9.89
5. x=65.4°, y=49.2° 6. 11.5

7. x=9.64, y=16.7 8. x=9.46, y=61.8°
9. (a) 9.66 cm (b) 38.6 cm®
10. (a) 55.5 cm (b) 185 cm®

11, x=8.66, y=24.2° 12. x=11.9, y=10.6
13. x=9.25, y=10.5 14. x=13.3, y=13.1
15. (a) 33.7° (b) 14.5

B2l 11,1 Br6eH)
1. 13.4

45 - 54 49.5 8 396
55 -64 59.5 17 10115

65-74 69.5 15 1042.5

75 -84 79.5 6

62.625

B2l 11.2 (Br.66H)
1. 4

2, 64

L2 Rl 11.3 (Br.67H)
1. 26

2. 55-59

3B 11 (BP.67H)

1. FHE =7 B =7 BH=7

2. P8 =6 PUB -5 BE=2M8
3. FHM =19 RUBH =18 FH =18

4, FHE =1125 > PEH =105 BB =4
5.225% 88

6. 825%
7. F58=$0.3875 » BEMH=304-306
8 FHH =107 BREE=61%-908

9. (a)

06-1.0

11-15 13
16-20 | 1.8
o 21-25 23

0.55
1.05 oy
155 1
e
2.55 P
3.05 50 ,,

(b) Fi9# =218kg * REMA =2.1kg - 2.5kg
(c) 2.2 kg

10. (@) FluH =8 FH-=8
(b) 4

2Bl 12.1 (Br.755)

1. (d) 2. (b)
3. () 4. (f)
5. (c) 6. (d)
7. () 8. (a)

B2l 12.2 (Br.755)
1.5

2. Y41

B2l 12.3 (Br.76H)

A(0,5), B(3,8)

Ofr |

A(=1, 1), B(4, 2)



B MR NE — B2LEERE b

WA 12.4 BP.775)

(a) B ERLEHOME  EBHORER

Ly (1, 6), (3, 8)

Ly (3,4),(-5.0)
Ly (-1,3),(7,7)
Ly | (0, 3), (-4, -1)
Lg (6,-2), (-1,5)

(b) LFIL, L0 L,
(c) L AL,

8 12 (Br.785)
1. (b) D(-1,-2)» &R
2. 13

3. 12.0

6. (a) L, (b) L,

10. (a) 4 (b) 2:1

BP.86

é
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